
 

 

Answer on Question #55842 – Math – Linear Algebra   

 

1. Consider a 3x3 square matrix given as 

⎡⎣⎢200020001⎤⎦⎥ 

. What is the element in 

a22? 

2 

0 

1 

0,0 

Solution 

 

𝑨 = (
𝟐 𝟎 𝟎
𝟎 𝟐 𝟎
𝟎 𝟎 𝟏

) , 𝒂𝟐𝟐 = 𝟐 

2. A + B = B + A 

associative 

m 

commutative 

m-n 

 

Solution 

𝑨 + 𝑩 = 𝑩 + 𝑨 – commutative 

 

3. Find z by the use of determinant : 3x-4y+2z+8=0, x+5y-3z+2=0, 5x+3y-z+6=0 

6 

7 

3 

5 



 

 

 

Solution 

∆= |
𝟑 −𝟒 𝟐
𝟏 𝟓 −𝟑
𝟓 𝟑 −𝟏

| = −𝟏𝟓 + 𝟔 + 𝟔𝟎 − 𝟓𝟎 − 𝟒 + 𝟐𝟕 = 𝟐𝟒 

    ∆𝒛= |
𝟑 −𝟒 −𝟖
𝟏 𝟓 −𝟐
𝟓 𝟑 −𝟔

| = −𝟗𝟎 − 𝟐𝟒 + 𝟒𝟎 + 𝟐𝟎𝟎 + 𝟏𝟖 − 𝟐𝟒 = 𝟏𝟐𝟎 

   𝒛 =
∆𝒛

∆
=

𝟏𝟐𝟎

𝟐𝟒
= 𝟓 

 

4. Find x by the use of determinant : 3x-4y+2z+8=0, x+5y-3z+2=0, 5x+3y-z+6+0 

3 

5 

2 

-2 

 

Solution 

∆= |
𝟑 −𝟒 𝟐
𝟏 𝟓 −𝟑
𝟓 𝟑 −𝟏

| = −𝟏𝟓 + 𝟔 + 𝟔𝟎 − 𝟓𝟎 − 𝟒 + 𝟐𝟕 = 𝟐𝟒 

    ∆𝒙= |
−𝟖 −𝟒 𝟐
−𝟐 𝟓 −𝟑
−𝟔 𝟑 −𝟏

| = 𝟒𝟎 − 𝟏𝟐 − 𝟕𝟐 + 𝟔𝟎 − 𝟕𝟐 + 𝟖 = −𝟒𝟖 

   𝒙 =
∆𝒙

∆
=

−𝟒𝟖

𝟐𝟒
= −𝟐 

 

 

 

 



 

 

 

5. Compute the determinant using elements in the first row: 

A∣∣∣∣1540−7−8371∣∣∣∣ 

-7 

32 

13 

3  

Solution 

𝒅𝒆𝒕(𝑨) = |
𝟏 𝟓 𝟒
𝟎 −𝟕 −𝟖
𝟑 𝟕 𝟏

| = 𝟏 ∙ |
−𝟕 −𝟖
𝟕 𝟏

| − 𝟓 ∙ |
𝟎 −𝟖
𝟑 𝟏

| + 𝟒 ∙ |
𝟎 −𝟕
𝟑 𝟕

| = 

     = (−𝟕 ∙ 𝟏 − 𝟕 ∙ (−𝟖)) − 𝟓(𝟎 ∙ 𝟏 − 𝟑 ∙ (−𝟖)) + 𝟒 ∙ (𝟎 ∙ 𝟕 − 𝟑 ∙ (−𝟕)) = 𝟒𝟗 −

𝟏𝟐𝟎 + 𝟖𝟒 = 𝟏𝟑. 
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